LBERE RS REBTTEEREE ARG
BT Oy 7 RSB /MIXEBFR

BARFR =Y 229 — X20228R AT
FILEE RS B /MK B TR

Bi2: 4%uETA28~38(R) (F#B7/98(1)) B#2: 4f4ETA28(+) -98(L) (FHBT/108(A))
&35 RPEAYT ERIBGES) S5 1/2%FEH BERSGES).  7/9 - 108/ MREEKRS
(BB : EBUREE(8 E3Y 3EA)| ‘{Eﬂ#:#.‘iﬁ«'#‘/im(skéiﬁ.&mﬁﬁ) \
8 | 0 o 7 | 0
173 | SEKIRIS 179
13:50 ' 12:50
8 [ ® 2 3 ! [ 6 ® 3 5
173 173 ' 174 174
9:00 11:20 ! 9:00 10:50
® 5 8 @ o ® o0 2 [ 3 @
174 174 1/Z
12:40 RZEHH LI 9:00 10:50
® ® @
1 o 1 o °)
& = =] k = & & s & o) 2
N
/) 3 i y & 4
N Z b4 1 5 7
5e g 5 o) ;
w| |w| |m| |[m]| |¥ 5 1 0 s
N & L & %
7# n 3 ’(" > P
i} ’ ~ 23 o
1] Z % i 211 i F3 M * G S
[TR] ERBE | 28 (7/9) [TR] ERBE2HS (1/9) [TR] kB 6EICG (7/9)
[[Z]3[4]5[6] 7]t Z13[ 4[5 T T[2[3[&[5[6] Tt
HEAAM 0] 0] 2] 1 21116 [BELT PLUS 0lT1TO0l0[315 EZ4T PLUS| 0 01000 0
ES55F 0[1]0[0 00T 0O 0 G 0[0[Z2[0[0]3 RET M| 3 T T OIx[ [T
<H>EE-FPEX <A>HE—-HAK <a>FPh—HK
<E>ER. K-8 <O>HB#. tE—EA <#>FH. BE-FER
KRBT ZBIT EEGE) ARG ABIT Bl 5(0 =847 ABIT =BT
—BIT =HGH) BT E@2. =E. #%(A@) —BiT FE(8) KXEGH
HRERE —REE —FKE = NI KFE — R —BK% =%8 AR — &8 NI = KBEE
[EfK] SERBEE | 38 (1/3) [EfK] SERBEE 238 (1/3) [ER] SRES (1/3)
I[Z]3[4]5[6] T8[9t [[Z]3[&]5[6]7 T TIT=t T[2[3[4[5]6[T[8[9]=F
TERIRER| 0 [ | ] 5171 9ce B ERZEEIN) 110 0[0[2 TRHRR| 0107007 ¢
[BEERE| 1] 0 0 00 [ T] [Er&®EmH 0 01 0[Tx[ 3] [ETEEHE[0 0[5 [3[X [ 8]
<EB>FH-HZT <t>ER, AE-H— <W>ER. RI-%8
<Aa>EH#. WE-BL <W>EBR. R)I-%8 <E>FHF-HZT
ABIT EX-1a) ABIT hok(h) =BT ABIT =847
—BiT F4. ER(S) —BIT B (H) —BiT JEEG) BB BN0GE)
HPE — 48 —FH =0Es AR —FE AR = NI HREH — 48 NI =7
[(E4] | B8 (1/2) [w2] | B¥E | e (1/2) [w2] | B#E2HS (1/2)
2] 3[4[5[6]T[8]9[=F TT2][3[4[5][6] [ TTZ[3[&][5[6]T[:F
(BZHZH| 1[0 2[0/0[5[0[0[0 HEFEAM 0[0[0[0[2[0[0][2 = K[0[0[0[0]0 01
B E| 04| 0[0[0[0[0[0[T[5 HEXZ|0[0[0[0[0[0[0[0 O O G[I[O[T[0]0 X3
<@a>i@, EH-%B5 <H>HI-PEE <E>Li. HiE—FE
<H>tgm. K& 28X <bH>kikih. A-BLiE <O>%Ht, BH—ED
ABIT B, B5(8) ZBT MHEAE)  SHEGH) ABIT =847 KRBT =847
—81T #\E((A) ZB4T ElG) —BT
REH#H —FE — REE = FE RiE — @ —HE = IH BANIL —E@ — @ ZE




